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NO. | EAT)
ORDABRNEHRIRI W

(y (x +3) 2 - 8 = 0
2 (x + 1) 2?2 - 7 = 0
@ Cx + 5)(x — 1)

4 (x +5 )(x — 2 )
(5) 7 ( x + 10) 2 = 56
(6) 3 x 2+ | = -5 «x
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() (x + 3) 2 = 38
x + 3 = = 242
x = - 3 = 242
(2) (x + 1) 2 = 17
x o+ | = =47
x = — | =47
(3) x 2 4+ 4 x - 5 =79
x 2 + 4 x — 12 =0
(x —2)( x + 6) =0
x = 2 , -6
(3) x 2+ 3 x — 10 =0
(x —1)ycx —5) =20
x = 1,5
(4) x 2 4+ 3 x — 10 = x — 2
x 2 + 2 x - 8 = 0
(x —2)(x + 4) =0
x = 2 , -4
(5) ( x + 10) 2 = 38
x + 10 = £ 242
x = — 10 = 242
(6) 3 x 24+ 5 x + 1 =0
x__—5_[25—|2
6
- 5 13
- 6
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